Fl S HBON Eé%@\%\f& INSTALLATION INSTRUCTIONS

OFFROAD PART Ne. FB21098

All Jeep® Models
Fairlead License Plate Mount

/

)

VIDEO AVAILABLE

REQUIRED TOOLS KIT CONTAINS QTy
14mm Socket Fairlead License Plate Mount
10mm Socket M6 Nylon Plastic Washer
4mm Allen M6 — 1.0 SS Nyloc Nut
M6 SS Washer 12mm OD
M6 SS Lock Washer
M6 — 1.0 x 20mm SS Button Head Bolt
M6 — 1.0 SS Hex Nut
M6 — 1.0 x 16mm SS Button Head Bolt

N BB BDOONOOPR

<< Please use caution or remove the Fairlead License Plate Mount >>
<< before entering a car wash that uses brushes. We recommend brushless car washes. >>

2109800

990 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



A
s INSTALLATION INSTRUCTIONS

FISHBON € Yl

OFFROAD PART Ne. FB21098
FFROAD P o 0

All Jeep® Models
Fairlead License Plate Mount

1) PREPARE FOR INSTALL

Loosen your fairlead and any other accessories from
the front of your bumper.

< i .", -
| i Y - Lo =
i

3) INSTALL YOUR LICENSE PLATE

Hold your license plate up to the ‘X’ bracket and
loosely secure it with the included bolts, washers,

They should wiggle freely without falling off. lock washers, and nuts.

2) INSERT FAIRLEAD LICENSE PLATE MOUNT

Slide your Plate Mount in between your fairlead and
bumper or any other accessory.

Secure each bolt with a 10mm socket and 4mm
allen key.

o S e ———

“omea Tt

It should rest on top of each bolt.

Next resecure the fairlead mounting bolts.

2109800

990 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



.

Fl SH B O N Eé%% INSTALLATION INSTRUCTIONS
OFFROAD \/ %  PART No. FB21098
7] e All Jeep® Models

Fairlead License Plate Mount

Lastly resecure any other accessories previously
loosened or uninstalled including winch cable and
hook.

ENJOY YOUR NEW FISHBONE OFFROAD FAIRLEAD
LICENSE PLATE MOUNT!!!

2109800

990 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



